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=P /M=E(1002E)
O BFLILE 3.2kg

O FIAH[2H700g

O HAEIE 32! 3kg

O ‘437 1.3kg
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Y=Y 121&(g) Z=2|(kcal) &) T HIE(%)
HFLRLE 32 26.88 4.68 40.3%
SpAREt 7 20.93 1.74 15.0%
HAEIETZY 32 52.51 5.21 44.8%
A2l 13 49.40 0.00 0.0%
31 84.1 149.72 11.63 100.0%
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[H= x4 [HiLLEEE]

O A¥(E= S=1) 2kg O HfLLE 2kg

O =& 1.5kg O =49 180g
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Y=Y 121E2(9) Z=22|(kcal) (o) 2 HIE(%)
Al 20 55.80 0.82 5.4%
EE 15 20.40 0.03 0.2%
9 40 26.00 1.65 10.9%
HE] 1 7.61 0.05 0.3%
29 8 30.96 7.98 52.8%
EN= 0.15 0.00 0.00 0.0%

Ampr 0.3 1.03 0.00 0.0%

HFLRLE 20 16.80 293 19.4%
sag 1.8 6.82 1.62 10.7%
EHE 1 7.61 0.05 0.3%

&3t 107.3 173.03 15.12 100.0%
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O 170} 3.2kg
O 27 4.2kg
O 321 850g
O d&H160g
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=
Aafslie EICH

=y 121=(g) Z=2|(kcal) F&(9) T HIE(%)

ity 32 49.28 3.15 44.6%
R 42 27.30 1.73 24.5%

A2l 8.5 32.30 0.00 0.0%
g 1.6 6.19 1.60 22.6%

Mt 0.68 2.59 0.59 8.3%
¢ 84.8 117.66 7.06 100.0%
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O $7 4kg

O 437 1.2kg
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BRPICHAL 248 ™oLt RTAIR, HIUSS BSQICH Al-Q0l MotA5S
20 FAlstt
=Y 1212(g) Z=2|(kcal) F&(9) T HIE(%)
R 40 26.00 1.65 15.0%
A2l 12 45.60 0.00 0.0%
MEe} 8 30.96 7.98 72.6%
Azl 0.8 3.05 0.69 6.3%
SR 5 3.60 0.68 6.2%
=8 65.8 109.21 10.99 100.0%
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MEH/M22H(1002E)
O 7}2HE(EE m=olw) 4kg
O HE 1509

O Y= 1kg
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Q0] TN ABBICE,
2. 943 BY+8 TR 2

SRR
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1. HSYF0| =K}, HIEIIRS0| HODIRE HOIA A4S Lo} S24ZLS
2. YBCHA BOILI AS #24FD AR, ATUSS BSI,
gxEy 19 URelka)  FRG@  PHIB%
7 2 40 85.20 0.04 1.0%
EHE 1.5 11.42 0.07 2.0%
=1 10 26.10 3.40 97.0%
31 51.5 122.72 3.51 100.0%
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O 324X|= 1.8kg
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O 432 1.3kg
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1. 77| IHSSS HIS0| 21 2S0= ECt

2. 2 F3|Lt 7|t F2iHSE 2ol 22 FAfelLt.

=y 121E(9) Z=22|(kcal) =) Z HIZ(%)
Sl 25 14.25 1.19 15.0%
SETPNES 18 63.00 0.68 8.5%
[HE 8.5 7.57 0.39 4.9%
32 13 49.40 0.00 0.0%
At 5 19.35 4.99 62.9%
et 0.8 3.05 0.69 8.7%

& 70.3 156.61 7.93 100.0%
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=P /M=E(1002E)
O BILILH(ES) 6kg

O Y1 (d3) 1.2kg

O OpRIoiE(ds) kg
O gl2& 5009

O & 300g
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@ HSoLS T[T,
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1. BiLELL 2191, HIYESS M=

2. HiLILL, SSH(2, 2t=H2]

o 1
s= A=t

3. 2f2{0| MASS HOIA 0 IFX| ARL|S THELE

=Y 1212(g) Z22|(kcal) =&(9) o HIZ(%)
HILHLH'H ) 60 50.40 8.78 63.7%
ot (L) 12 7.32 1.64 11.9%
IRIHE(HE) 10 5.30 1.03 7.4%
=S 5 1.30 0.16 1.1%
= 3 8.82 2.18 15.8%

=%t 90.0 73.14 13.78 100.0%
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=P /MZEH(10021F)
O HiLtLt 5kg

O X3 A|™ 5009

O O|AHE] 4009

O 7/ 6kg

O ¥& 4kg

O 44321 700g

O I FAOM}RH 509

=2 F2 16.6kg
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@ BILILH= 2cm 20| Mt
@ S2C{o] HILILL 21, 28
® B ZotzELt

@3 4453

H=E 121&(g) Z=2(kcal) 25 Y HIE(%)
B 50 42.00 7.32 53.7%
XA 5 13.83 3.18 23.3%
IS E 4 26.32 0.38 2.8%
Ly 60 39.00 2.47 18.1%
¥ 40 0.00 0.00 0.0%
CER 7 26.60 0.00 0.0%
T TOMIHRC 0.5 212 0.28 2.0%

3 166.5 149.86 13.62 100.0%
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=P /MZEH(10021F)

O 0|=7t& 600g

O £7 9kg

O 0fo|A 32 2kg

O €2 4kg

O ¢1§ 800g

O =213 (%E& A2I”) 2009

=8|% 5% 16.4kg

N ZEBIE
1. OfO|AZICHA B3|l QHEES 410 EICt.
2. 22|Z2 ME|ZR thtioPLT EFE 1efolo]
N S8%4H

1. 012712 BOIRE BRI,

T= =201

2. EHo=2: Z2|E2l0f Al2|Z0|Lt HEet IXIEE 0| Tttt
=y 121E(9) Z=22|(kcal) =) Z HIZ(%)
Oj=7t= 6 23.88 0.06 0.5%

29 90 58.50 3.71 30.9%
ofo|A3Z 20 35.80 3.46 28.8%
=) 40 0.00 0.00 0.0%

AR 8 28.88 415 34.5%
Z2IF(A2IR) 1.6 6.05 0.63 5.3%

& 165.6 153.11 12.01 100.0%
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O HE{ 2009

O OM|® 2L 5009

O Al2IZE 1kg

O EZ=EH 2009
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Y S8
1. 8029 88X A2|E 22 PHEO T I}
2. 02 IHX| A2t D2 IAUSS A0 EICE
=Y 1912(q) 22| (kcal) 2=(g) = HIZ(%)
EHE] 2 15.22 0.09 1.2%
O EZR 5 16.30 3.06 38.2%
Al2|E 12 45.36 475 59.3%
HE=EN 2 11.34 0.10 1.3%
= 21.0 88.22 8.00 100.0%
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H=Y/xH=ZH(100212)
O & 1.5kg

O dl2& 1kg

O B2 AE 159

O d& 1kg

O HE{ 6509

O 4a 15¢

=8|% 5% 4.1kg
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@ 22HEot 2RHATH HEE 254 g0 410
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1. MEQIAIO] el D TUS S21% AMS HCh
1HIE =
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2. H2ZHER QHEE 1:

=y 121E(9) Z=22|(kcal) =) Z HIZ(%)
e 14 19.43 0.03 0.3%
H=2ES 10 2.60 0.31 2.9%
HENAE 0 0.00 0.00 0.0%
24 10 38.70 9.97 94.0%
HE] 6 48.92 0.30 2.8%
Ag 0 0.00 0.00 0.0%

¢ 41.0 109.65 10.61 100.0%
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O gZ 840g

O 7 2.5kg

O &% 580g

O #=#Z2190g

O Bi2H0ll4lI2) 5
O HE{ 170g

=2|E 2 4.2kg
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@ T2 A, w22 Yoj & 40jEC

® 28, HZ2AOMAS 0 T BojZES 228+ 2o BOICk
® 22 BolH 2B BT HEIS FEC)
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N S28uHy

=
2. MS AEFoR HE NIUS SHEL,

=y 121E(9) Z=22|(kcal) =) Z HIZ(%)
EE 8 11.33 0.02 0.3%
29 25 16.25 1.03 14.8%
28 6 22.58 5.82 83.8%
HiE 2 7.17 0.00 0.0%
HRErgl 0 0.00 0.00 0.0%
HE] 2 12.68 0.08 1.1%

3 42.8 70.01 6.94 100.0%



